Example Problem 6.1

Given: A columnis to be 15 fi long. In the strong plane, the column is part of an
unbraced frame, one end is to be considered fixed and the other pinned. In the
weak plane, the column is part of a braced frame, both ends are to be
considered pinned and there is a lateral support provided 5 ft from one end.

Wanted: Determine the controlling effective length, KT, for the column using the
following cross sections. Note that all the sections chosen are approximately
the same weight.

a) Cl0x30
b) W14x30
¢y HSS 7x4x1/2
d) HSS 10x0.312
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